Opérations Mixtes (F)

Effectuez chaque opération.

7Tx14 = Tx12 = 7Tx10= Tx12 =
637 = 637 = 91 -7 = 28 +7 =
Tx1= I x7= T=7= 98 +7=
Tx9= 49 =7 = 7Tx4 = 10x7 =
21 +7= 49 =7 = 4x7= Tx4=
49 =7 = 4x7= 42 +77 = 7x14 =
21 +7= Ox 7= 98 +7 = 56 +7 =
14x7= 4x7= 91 +7 = 7x12=
707 = Tx1= 49 =7 = Tx5=
7x10= 7x14 = 84 7 = 287 =
12x7 = 56 -7 = TXT = Tx12 =
84 +77 = 98 7= 14 x7 = Tx6=
7Tx15= 12x7= 637 = 91 +7 =
12x7= Tx2= 637 = 7Tx6=
I x7= 35+7= 10+7 = 11 x7=
Sx7T= 91 +7 = 56 +7 = 2XT =
Tx2= Tx12 = 6x7= 7Tx15=
637 = 2XT = T+=7T7= Tx8=
Tx7= RS 7=+7= Tx7=
TxT= 11 x7= 56 +7= 98 +7 =
84 7 = 637 = 7x10= 567 =
SxT= TxT= 15x7= 98 +7=
TxT= 42 =7 = 707 = 10x7=
IXT = 3XT = T+T7= 56 +7 =
Tx8= 15%x7= Tx2= T+T=
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Opérations Mixtes Solutions (F)

7x 14 =98
63+-7=9
Tx1=7
7x9 =063
21+7=3
49 7 ="
21+7=3
14 x7 =98
70+-7=10
7x10="70
12x7 =284
84+T7=12

7x15=105

12x7 =284
1 x7="7
5x7=35
Tx2=14
63+-7=9
7x7=49
7Tx7T=49
84 +7=12
5x7=35
7xT7=49
IxT=21
7x8=56

Effectuez chaque opération.

7Tx12 =284
63+-7=9
1 x7="7
49 =7 =7
49 =7 ="
4x7=28
O9xT7=063
4x7=728
Tx1="7
7x 14 =98
56 +-7=28
98 +7=14
12x7 =284
Tx2=14
35+7=5
9l1+-7=13
7Tx12 =284
2xT=14
771=T=11
11 x7="77
63+-7=9
7x7=49
42+-7=6
IxT7T=21

I5x7=105

7 x 10 =170
91+7=13
7+=7=1

7x4=28
4x7=728
42=7=6
8=-7=14
91+7=13
49 +-7=7
84 +-7=12
7Tx7T=49
14 x7 =98
63+-7=9
63+-7=9
707 =10
56 +-7=28
6x7=42
T=7=1

T+T7=1

56 +-7=38
7x10="70
15x7=105
707 =10
T-7=1

7Tx2=14

7Tx12 =284
28+7=4
98 +-7=14
10x7="170
7 x4 =28
7x14 =098
56 +-7=238
7x12=284
7x5=35
28=+T7=4
7Tx12 =284
Tx6=42
91+-7=13
Tx6=42
11x7=177
2xT=14

7x15=105

7 x8 =156
7Tx7=49
908 -7 =14
56+-7=28
98 +7 =14
10x7="70
56+7=38
7T+-7=1
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